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1Lasttime: absorptionlemission o f photons:

R i→f n 14ft@Ii>12
(electricdipole. usually D=-ers.

Today: selectionrules, o r
symmetryconstraints o n Cfl@lid.

Example: parity symmetry x → - x (P)

classify slates a s :
even: Ply>s t l y )
odds ply>= - l y,

Yeh.-Tel-x)
40642-Toc-x)

suppose: Cfl@Ii>= -elf lx l i )

41×47=0 i f : i & f both e v e n o r o d d
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Suppose: Plf>= #flf)

q,
and Pl i tt ; l i )

41×1=11%1-x) and Y i1×1=71.4,-C-x).

LHxlil-ffdxyflxlxy.li/
=&dx4f*lx1xyilx1tffdx--(z=-x)

=

%dCyftz-
zy.kz)

(flexi) - 0 TIFT;-1
(bothi l f =§d

z ftp.Ti-Dyfttlzyilt)
[µ¥
¥§dzy¥lzlZYitH
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Suppose (flat) ¥ 0 . Then f l e d both{dude!.

each
fastdefiniteparin,

( f t plot>= S t l(PIN)= A t4)Top
= ((HP)1/07=17+4147

(flplof)- 4117147= 410/5%1- (fl¢Sq=LfµµTf)=0
either(fly)-0o r t o= T f .

Back t o selectionrules: 41×1,7=414) where147×1,1
Pli>= F i l i ) P(xlii): - x Pli>=fTi)xli>

x l i l = 107 Summary

even

thdejar.o.
1.IE#

o d d ox {Yama = {odd
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Rotation symmetry i n 3 d : ¥mf¥¥r

eimiClassify i & f i n termso f :

orbitalangularmomentum 2 -I i >=.!§}m,"
1=011,2,... (mi-l,..., l - l ,l ]

I f 4147=10, need lf=l¢p a l i l = 147
meimy

"I,,§
m,

= Ali-edO t- r - 0(liter-Dalliter)
( n r ) Mitmir
uncoupled

need non-vanishing C -
6%4%1%1
3:slfmfllrnreim.is#omr=o,

± ,
t ° l i=¥ l i 0 f¥" o n e o f these=ef.l r =I

claim: t i e s .
"Biet:["I'→%: ' teen,



5 Take n-1,43 hydrogen:

n= 3

÷÷i÷÷÷÷÷
¥÷÷⇐÷ii÷
÷÷÷

÷÷÷
:÷÷"

n--2

.

What states cannot
decayt o 11007 v i a

→ A l l o f them except
a t first order.


